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WHAT IS THE DIFFERENCE BETWEEN

boxl = box2
boxl == box2
boxl === box2

boxl.equals(box2)



WHAT IS NULL?

boxl = null
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"Most structures fall";
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"Many buildings destroyed”;

0){

"Many buildings considerably damaged,
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"Damage to poorly constructed buildings"”;
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int hour = in.nextIntO; WHAT LINES OF CODE
1. if Chour < 18) { GET EVALUATED FOR
. time = “afternoon"; THESE INPUTS2 WHAT IS
. } else if Chour < 12) { THE OUTPUT?

time = “morning” A 11

. } else if Chour < 6) { B 15
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. telse { D. 23
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0. time = "night";
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8 time = "evening"
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int hour = in.nextIntO; WHAT LINES OF CODE
GET EVALUATED FOR
THESE INPUTS2 WHAT IS
THE OUTPUT?

A.

. 1f Chour < 6) {
time = “night";
. } else 1f Chour < 12) {
time = “morning”
. } else 1f (Chour < 18) {
time = "afternoon';
. telse {
time = "evening"
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